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Review: Answers should be in radians between 0 and 2.

1. What angle(s) have a sine value of %?

% & °,

2. thgi\‘t_angle(s) ha%e_?_tangent value of —
/» & P04

3. What angle(s) have a cosine value of -1?
N

1,0
4. What angle(s) have a sine value of 0? ( ‘

O &7

6.3 handout problems — prove the trigonometric identity

COS 2X 5
=cscex — 2

sin? x
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2 cos 2x

. = cotx —tanx
sin 2x

2 X 2
90. ECSC Ezcsc x + cotx cscx
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sec? x

92. sec2x =
2 —sec?x

94. sec?= ’
. SsectF—=——
2 1+ cosx
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Homework: 6.3 handout #85-93 odd
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